
1. These ancient artefacts are of Greece.
2. He jumped off the cliff in spite of the warning signs saying it was dangerous.
3. The school is in front the park.
4. How much work there is depends on the number of clients we have.
5. If they're offended, it's because they lack of a sense of humour.
6. Part of the building is closed for renovations.
7. The hotel is on top of the mountain.
8. The lack of feedback meant I had no idea how to improve.
9. We're all taking part of the conference.
10. Despite of their differences, Mike and John are good friends.
11. This city lacks of good public transport.
12. Watch out for the telephone pole behind of your car.
13. He might leave the hospital today, depending of how much he's recovered. 
14. Wine is made from grapes.
15. The manager isn't aware of the employees' dissatisfaction.
16. The teacher likes her despite her bad behaviour in class.
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Oznacz ka�de zdanie jako poprawne lub
niepoprawne i popraw wszystkie b�ędy.

© Akademia Języka Angielskiego 2020 - All rights reserved



1. Niepoprawnie - These ancient artefacts are from Greece.
2. Poprawnie
3. Niepoprawnie - The school is in front of the park.
4. Poprawnie
5. Niepoprawnie - If they're offended, it's because they lack a sense of humour.
6. Poprawnie
7. Poprawnie
8. Poprawnie
9. Niepoprawnie - We're all taking part in the conference.
10. Niepoprawnie - Despite their differences, Mike and John are good friends.
11. Niepoprawnie - This city lacks good public transport. 
12. Niepoprawnie - Watch out for the telephone pole behind your car.
13. Niepoprawnie - He might leave the hospital today, depending on how much
            he's recovered. 
14. Poprawnie
15. Poprawnie
16. Poprawnie
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